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1 mwn: several maYvn relating to »p
a  if he’s eating nmn and feels onset of »1p, he should hold his member and quickly swallow the nn1In (before »1p comes out)
i Challenge: how can we allow him to hold his member — 8”1 observes that someone who does so while urinating is con-
sidered to be bringing destruction to the world
1 Answerl (7aX): uses a thick cloth
2 Answer2 (837): even a soft cloth — once it’s 9py3, no difference
(a) 7w is concerned that if he uses a soft cloth, it will stimulate further
(b) &7 once he has already been nnnnn, won’t do so again at the same time
b 7w the amount of »p and 211 that are Xnvn is any size — even a mustard seed (or smaller)
Definition of 71 n15w — 3 versions of YR1NY’s RN
a  version 1: any " which his whole body doesn’t feel (upon emission) isn’t xnon —
i Per: the phrase 71 n2>w -must be able to “fertilize”
1 Challenge: ruling that if he woke and found himself to be “hot” (erect) — Xnv (assumption — 1"» was emitted)
2 Answer: case was that he had a dream in which he had intercourse — he certainly had nw»in
b wversion 2: any 1" that doesn’t shoot out “like an arrow” isn’t Xnvn
i Practical difference: if it “uprooted” with nwxn but emitted without nwan
ii ~ Note: YR1nw was clear about this; X171 was unsure — as he asked this question ("wxna nIpY1 and NWIINL ROV AR - 1NN?)
1 Proposed answer: T:n mxNpn — a p”va who hadn’t yet urinated (since »1p) and was Y210, when he urinates, is &no
2 Rejection: in that case, most of it was emitted nwxna
¢ Version3: any 1" that doesn’t “shoot out like an arrow” isn’t capable of being y»m
i Implication: but it is Rnon, per v. 1
Further definitional discussion — 3 questions posed by x17
a  Ifa non-Jew: before converting, was 9m1nn (and had n7’py) then was Y110 (=113) and then had v
i Do we say: that n’py is meaningful - but only 81mn% (here it would be a X9p — he wouldn’t be xnv)
ii ~ Or: do we apply npy as definitional moment of Y71 k¥ even R%pY — and he is MV —1p'n
b Ifa nar felt urine 7py1 before going to mpn (for na'r) and then it came out
i Do we say: that npy is only meaningful for 1"w, which can’t be “stopped”, but 0’931 M can be stopped > they are n™1nv
ii ~ Or: do we apply nvpy as definitional moment of Pyn nR¥n even here — and it is XnY —p'n
¢ Ifanonjewish nar felt urine 7py1 before going to mpn (for M7) and then it came out
i Do we say: n1py is definitional moment of pyn nx¥1n though it can be stopped - but only for m%81w’, who is n”nn ANV
ii  Or: do we not make even this distinction and the D931 " are DNV — 1PN
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IV Analysis of 890 — no minimal Myw for 21 or »p
a SNy N1 requires NNRN ' NNN per v. 2

i
ii

iii

Challenge: our mywn rules that there is no minimal Myw
Answer: he was following Y8ynw '7’s (rejected) position, as presented by n ":
1 237 v. 2 teaches that it is only ®non if moist, not dry
2 7y infers that from 7
3 1237 need 11 as part of their count towards 3 nYRI=]27p 21N (1A NR ;1WA 77 ,N27T)
(a) And:yann teaches that a nvR1’a Hya ar has only partial consequence — 2v1M 25WN RNVN
4 Srypw ‘1 gets count of 3 from vv. 3 (2 mentions of na7) and 2 (3 mentions) — 2 for nkmv, 3 for 127p
Note: for those who infer all (2/3 n1&7) from v. 2, v. 3 teaches it must be emitted to be ®nv and that the 211 itself is Xnv

b ®7Zax7 1w has no minimal 7w for Nk (the one who emitted it) but for yan — minimally nwy>

i

ii

iii

Challenge: our mwn rules that there is no minimal Mpw
1 Assumption: our mwn even means for yan
2 Rejection: reference in our mwn is for NRM
Challenge: ®:X 92 Rnavin — 1"v has a stringency not shared by Y1 and vice-versa
1 pwa 9o no distinction of age of y7w (but 1"v from someone under 9 isn’t knovn)
2 w3 m no minimal MYY
(a) Assumption: this is referring to yan nrmv (just like y7v)
(b) Rejection (x7ax7): distinction is just p7w vs. 1" (but not equivalent)
(c) Challenge: 1:x m>nR: D1aR have no minimal MW — less than 13 of nnn W3, or 1Y) or NVTYI of Y1V
(i) Defense: 7aR is a unique category — it is all considered as if nwTy>
1. Proof: if any less than the full 72R is gone — not xnvn
Dispute 1777 7772 8171 “1/9”7. whether a minimal 1w for " »an is a dispute among o'Rin
1 977 since we infer "w pan from WX R (v. 4- p7w Pan) and we have a general dispute about inferences:
(a) Some say: nm NN N7 — the inference “trumps” the local law Pinferred from yv yan
(i) Just as: y7v yin has minimal MW (NW1Y3), so too 1w Yan requires minimal NYw
(b) Others say: NINR2 PRI NN NPT — infer what is needed, but allow local law to inform what it already has
(i) Therefore: we infer " yan from p7w van, but apply 19w (none) of 1"¥ X to Y Yan
2 7777 perhaps "v »in isn’t inferred from v. 4; rather from W& W (v. 5) which is directly about v
(a) And: all hold nym nyn 7 (Dthere is no minimal YW for Yan)
3 Conclusion: some DR reported per 8™, others reported per 117 112 81N "7
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